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INSTRUCTIONS AND INFORMATION

1. Answer ALL the questions.

2. Read ALL the questions carefully.

3. Number the answers according to the numbering‘:s‘j',_rgtlé;;:} .syedl mthls ci;;stion paper.
4. Round answers off to three decimal numbels(g?heleappllcable)/

5. Write neatly and legibly. | -
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QUESTION 1
1.1 1.1.1 250 km /h equals ... m/s. (2)
1.1.2 The reciprocal of 20is ... ()
1.1.3 Express 370 mm as a percentage of 1,225 m. (2)
1.2 Given: 7x7° —4x-7
1.2.1 ... 18 the exponent of x.
1.2.2 7isthe ... ofx'B_
1.2.3 ... is the variable.
1.2.4 ... is the constant term.
1.2.5 The number of terms is ...
(5x1) (5)
[10]
QUESTION 2
2.1
4)
2.2 (3)
2.3 )
"E"f-‘:wDiv1dgxd 3+ 12a'r2 +14d +5 by d + 1.
&;‘I"he‘n 1n<‘:1\10afe the quotient and remainder. (7
2.5 Remove the brackets and simplify the following :
(b-30" ~3y-10 ©)
[22]
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QUESTION 3

3.1 Show the prime factors of each of the following expressions:
12a’bc
30a’be
8lab’c

Now determine the highest common factor (HCF) and the lowest common multlple
(LCM) of the expressions. ¢ A

3.2 Simplify the following logarithms without the use of a ca}culatoz. ShowALLthe
steps. e o

log, 25-3log,, 100-1og, 9 +log, 32

3.3 Simplify the fraction:
4,18
3a 20 Sab

3.4 Simplify the following:
xy— x2y2 . 4 —4xy e

Jj) * ,( K
QUESTION 4 .
4.1 Solve fofjv:

SNy =?"::6ﬁ(10 ~x)
/The sum of THREE successive uneven numbers is 21. Determine the THREE
(;nulnbels

43"

Let the first number be x.

43 V= %m-zh is the formula used to calculate the volume of a cone .
Manipulate the formula to make » the subject of the formula.
4.4 Calculate the value of » in QUESTION 4.3 if ¥ =9and / =5.

(7

(5)

(4)

“

&)

)

@
[14]
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QUESTION 5
5.1 Sketch the graph [(x; ) (3 = 2x +1)] by using a table of values.

Use values of x ranging from -2 to 1

Use a scale of 1 cm =1 unit on both axis. Indicate the x and y axis. (6)
5.2 Give the name of the graph you have sketched in QUESTION 5.1. (H
5.3 Given : The graph of y =mx+c N

Y
-3
-3 \
531  Give the coordinate of the J-interdépt of thé graph.

5.3.2 Give the slope of thegraph i,

533 Ve\“a».E\(\)‘va kgf’ﬁ negative slope?
& (Bx1) (3)
» [10]
QUESTION 6
6.1 Determi.
D
C 2)
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6.2 In the given figure below ::1 =90°, AE=225cm . EF =33 cm.

F
33 em
e
A
22,5¢cm
6.2.1 Calculate the length of side AF. O
6.2.2 Give the value of (cos 8)(sin 9)_..- i, (3)
of . o} 3 - x V
6.3 Prove that /2 e cos45 (sm 60 ) Z by makmg use of Spec1al angles. Do NOT use
a calculator. 8
1
45°
1 @
[13]
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QUESTION 7
7.1 A floor has to be covered with tiles.

7.2

7.3

7.1.1 Calculate the area in metres of a tile with dimensions 415 mm % 390 mm.
7.1.2 Calculate the area of the floor measuring 4,5 m by 5,5 m.
7.1.3 Hence, calculate how many tiles you will need to tile the floor,. -

i,
The price of Sasko bread is R7,80c and it is increased by 8%.“-';-‘7Cal('>l.‘11;_;_‘te the new
price. N i

Calculate the area of the following:

T 10 mm
Y

TOTAL:
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MATHEMATICS N1
FORMULA SHEET
This sheet must accompany the question paper.

Rectangle: Perimeter = 2(/ + b)
Area =]xph

Square: Perimeter = 4a
Area =d°

Triangle: Perimeter=a + b +¢
Area =%bxh

Rectangular prism:
Volume=17xbxh

Right triangular prism:
Volume = '4b x i x |

Cube: Volume =g’

Right pyramid:
Volume = %(base area x h)

;,;:/ 2 2
Cone: Volume = b or X h
YTd 303

Annulus: A = ﬂ(Rz —-1'2)
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The right-angled triangle:

B
c a
A b C
b
The theorem of Pythagoras:
F=d+ b?
Ratios of angle 0:
sing =2 cost = b tand =2
c b
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This marking guideline consists of 7 pages.

(1) Do not allocate marks for QUESTION 5.3.3 (Imark) and 6.3 (4 marks)
(2) The total (100) to be reduced by 5 marks to 95 for all candidates

(3) Mark all candidates out of a total of 95 marks

(4) Convert the mark achieved out of 95 to a percentage

(5) Record the percentage achieved on the mark sheet

Question paper to be marked out of 95 instead of 100
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MATHEMATICS N1

QUESTION 1
11 111 69,444 m/s v v
1.1.2 1 v
20

1.2

113 30,204% v v

1.2.1 1;-3 v anyone exponent
1.2.2 Coefficient v

1.2.3 X v

1.24 -1 v

1.2.5 3 v

QUESTION 2

2.1

2.2

2.3

243a*°

5

5(a0b0)8 x5
v )

=5(1)° x(Fa** ) v

=5x3a’v

=15a? v

12b —4a—-10c
(-)-24b + 14a + 8¢
36b —18a—18c a4

OR

—4g +12b— 10c
(—)14a— 24b + 8¢

—18a +36b—18c v v v (ONE mark per term)

8a® x4a’ ~16a™
=32a%=16a™ v
=2a* 0y

= 2a%v
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)

1)
)

(5x1) ()
[10]

(4)

(3)

(3)
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2.4

2.5

MATHEMATICS N1

d?+11d+3 vv Vv ( ONE mark per term)

d+1 d®+12d? +14d +5
d®+d?v
11d? +14d
11d? +11d v
3d+5
3d+3v
2 v

Quotient: (d? +11d +3)
Remainder: 2

(y-3)(y* -3y -10)

T930(E)(A6)T

(7)

=y® —3y? —10y -3y? +9y+30 (1™ 3 correct termsv v ; last 3 correct terms v’ V')

=y’ —6y*-y+30 v

QUESTION 3

3.1

3.2

3.3

12a®bc =3x2% xa’bc
30a’bc = 2x3x5xa’bc
8labc = 3“ab’c v (ONE mark per term )

<SS

LCM =3%x2°x5

v v (ONE mark for the value, one mark for the variables)
=1620a°h’c

HCF =3abc v v (ONE mark for the value, one mark for the variables)

log, 25-3log,,100—-log, 9+ log, 32

= log, 5% —3log,,10% —log, 3* +log, 2° v v
=2(1)-3(2)D) -2(0) +5v v

=2-6-2+5

=—1v

4 1 8
_+___
3a 2b?> 5ab
40b? +15a — 48b
30ab?

v v v v/ ONE mark for each correct term of the numerator

ONE mark for the LCD
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3.4

MATHEMATICS N1

xy—x’y? 4-4xy
xy 20
2,2
_ X=Xy g 20 Y
Xy 4—4xy
_xy@A-x) 20

Xy 4(1—xy)
=5v

division becomes multiplication & fraction turns

v v/ for factorisation

QUESTION 4

4.1

4.2

4.3

4.4

11+5x+5=6(10—Xx)
16 +5x=60—-6x v
5x+6x=60-16 v
lx _#

11 11

x=4v

X+X+2+X+4=21v v ONE mark for the uneven numbers /
3x+6=21 ONE mark for the addition sign and equal to 21
3x=21-6

3x=15v

XxX=5v

The three numbers are:
5 7 and 9 v If only the three numbers are given, give one mark only

Vzlﬂﬂh
2
AV =a’hv

o2y
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(4)
[20]

(4)

(5)

(3)

(2)
[14]
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MATHEMATICS N1

QUESTION 5
5.1
X -2 -1 0 1
y -3 -1 1 3
y-axisv
7 7] y=2x+1
6 -
5
4 —
3
5
I7 é _5I -4’ 1I 21 3 I4 15 \6 I7x-a{xis\/

2 marks for calculating each of the coordinates correctly v v in the table
X —intercept between O and -1 «
v ONE mark for straight line graph

v ONE mark for 1 as y intercept

/ labelling both axes (6)
5.2 Straight line v 1)
5.3 53.1 (0;-3)v
5.3.2 m=-1v
5.3.3
(2x1) 2
[9]
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MARKING GUIDELINE
MATHEMATICS N1

QUESTION 6
6.1 AN 0 0 0
A+B =130 OR C+130" =180
86° +x=130° v C =50°v
x =130° —86° 86°+ 50° + x = 180°
=440y x = 44°/ (2)
6.2 6.21 AF? 4+ AE? = EF?
AF2 + 22’52 =332V for substitution
v
AF? =582,75
_ v
AF =2414 (4)
6.2.2 22,5.,2414
(—33 )(—33 )
v 2 marks for substitution on step 1
_ 54315
1089
= 0,499 v OR answer only 3 marks 3)
6.3

[9]
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MATHEMATICS N1
QUESTION 7
7.1 7.11 Area of one tile = 0,415 x 0,390  OR Area = 415mmx 390mmv
=0,162 m*v ~161850mm’
hint Area cannot be converted to meters
7.1.2 Floorarea= 45x55 v
=24,75 m*v
7.1.3
Number of tiles required 2475
0,162
=152,9v
Need 153 tilesv
(3x2) (6)
7.2 8% of R7,80c OR R7,80x 1,08v v =R8,42v
= 0,08 x R7,80 v
=0,62v
Therefore R7,80c + 0,62
The new price is R8,42cv/ 3
7.3 A=1xb
=18x10 v
=180 mm? v (2)
[11]
TOTAL: 95
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